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class Wand:
def __init__(self, color, length):
self.color = color
self.length = length

def cast_spell(self):
print("The magic wand works".)

#Create a wand object
my_wand = Wand("Purple", 10)
#Use the wand's method
my_wand.cast_spell()
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The magic wand works.
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class Car:
def __init__ (self, brand, color):
self.brand = brand
self.color = color

def start(self):
print("The " + self.color + " " + self.brand + " car starts.")

def drive(self):
print("The " + self.color + " " + self.brand + " car is driving.")

my_car = Car("Tesla", "red")
my_car.start()
my_car.drive()
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The red Tesla car starts.

The red Tesla car is driving.
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class Car:
def __init__(self, brand, color):
# Initialize car with brand, color, and full fuel tank (fuel_level = 100)
self.brand = brand
self.color = color
self.fuel_level = 100

def refuel(self):
# Refuel the car, setting the fuel level back to 100
self.fuel_level = 100
print("The " + self.color +

+ self.brand + " car has been refueled.")

def drive(self):

# Check if the car has fuel

if self.fuel_level > 0:
# If fuel level is greater than 0, drive the car and reduce fuel level by 10
self.fuel_level -= 10
print("The " + self.color + " " + self.brand + " car is driving.")

else:
# If out of fuel, print a message indicating so
print("The car is out of fuel!")

# Create a Car object
my_car = Car("Toyota", "blue")

# Refuel the car and drive it
my_car.refuel()
my_car.drive()
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The blue Toyota car has been refueled.
The blue Toyota car is driving.
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class Car:
def __init__(self, brand, color):
self.brand = brand
self.color = color

def start(self):
print("The " + self.color + " " + self.brand + " car starts.")

class SportsCar(Car):
def accelerate(self):
print("The " + self.color + " " + self.brand + " sports car accelerates quickly.")

class SUV(Car):
def off_road(self):
print("The " + self.color + " " + self.brand + " SUV tackles rough terrains with ease.")

my_sports_car = SportsCar("Ferrari", "red")
my_sports_car.start()
my_sports_car.accelerate()
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https://blog.faradars.org/%D9%88%D8%B1%D8%A7%D8%AB%D8%AA-%D8%AF%D8%B1-%D9%BE%D8%A7%DB%8C%D8%AA%D9%88%D9%86/

my_suv = SUV("Jeep", "black")
my_suv.start()
my_suv.off_road()
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red Ferrari car starts.
red Ferrari sports car accelerates quickly.

black Jeep car starts.
black Jeep SUV tackles rough terrains with ease.
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class Car:
def __init__ (self, brand, color):
self.brand = brand
self.color = color

def drive(self):
# Raise NotImplementedError if drive method is not implemented in subclass
raise NotImplementedError(
"drive method must be implemented in each car subclass")

class Sedan(Car):
def drive(self):
# Override drive method for Sedan subclass
print("The", self.color, self.brand, "sedan is driving smoothly.")

class Convertible(Car):
def drive(self):
# Override drive method for Convertible subclass
print("The", self.color, self.brand,
"convertible is driving with the top down.")

# Create instances of Sedan and Convertible
my_sedan = Sedan("Honda", "silver")
my_convertible = Convertible("BMW", "blue")

cars = [my_sedan, my_convertible]
# Iterate through cars list and call drive method for each car

for car in cars:
car.drive()
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("The', 'silver', 'Honda', 'sedan is driving smoothly."'")

("The', 'blue', 'BMW', 'convertible is driving with the top down.')
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